New Commerce Coaching Center

ICT Final Model Test-1
Time : 25 Minutes. | Total Questions : 25 | Total Mark : 25 X 1 = 25
Postive Mark For Every Question : 1 | Negative Mark For Every Question : 0

1) fczferfre Irage HMD & lafoes Fore w2

A. R o
B. Iji© Moy
C. S I

D. fafaf® 3few

Correct Answer : RC*F 5=

2) Rifee wfbet el e s @i e e weE?

A. IRETTILH
B. e i
C. @G

D. TEGFIERT

Correct Answer : JCTRTFAOH

3) TRIEGN @ 2o @ @I 2y I9Re 2307?

A. VR
B. cryosurgery

C. Nanotechnology
D. e dfefaifag

Correct Answer : (&6 2fgfifae

4) TG QL TS A& @07

A. @R

B. fax gfawat
C. TG
D. g3l fieaffs

Correct Answer : @R

5) SIS ARSI (IR0 F Gy @ g2ce ~ANF?

A. 90
B. 9o
C. 5o
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D. Svo

Correct Answer : 9vo

6) Tox 2bre [ @B eAFa N1y TR FioTTR ToizT @@l ?

A. FEoE
B. wtew

C. I3
D. ¢ibsw

Correct Answer : CI0ST

7) CIRIRCER (I e 200 TTIEAG JIRT S 27

A. 2o
B. fad
C. ved
D. 9o

Correct Answer : faoI¥

8) fiG 12 G Gr&1fG =T i Grotf=i “afore?

A. Prcst=T
B. @t
C. SRCACFA
D. 3¢

Correct Answer : @RTHGENR

Q) FRCHEA T ACH (Sl GeoAlerier cof F<t A2

A.
B. 2@
C. &
D. 391

Correct Answer : 91

10) IEEE802.15 {5 fm= s5ca?

A. FFEHC
B. eqgWIA
C. <3HIR
D. ¢




Correct Answer : P32

11) 59 “AfS=iaiet 72T @I ?

A. A
B. S0
C.V
D. ¢

Correct Answer : V

12) Jeat I @I @rege?
A. unicode
B. BCD
C. ASCII
D. EBCDIC

Correct Answer : unicode

13) 31T 529 G *JI49 AA F97?

A. Q00
B. »avr
C. sau
D. A7

Correct Answer : Qv

14) 68 @G AFE= 3125 7772

A. Ti®
B. 79
C. 99
D. ¥+

Correct Answer : 9

15) ~infafo e & e Fe [6a?

A. b
B. v
C. o)
D. v

Correct Answer : v




16) HTML 43 &% &7

A. o =T At
B. cef fafo
C. e st

D. T2H

Correct Answer : o =157 &t

17) FATHIR @5 SR Tt a%el 8 aWitad W3 & & JeeT?

A. browser
B. URL

C. protocol
D. TP address

Correct Answer : protocol

18) ISP @7 “fait &2

A. internet service prototype
B. internet service provider
C. interest service protocol
D. Indian service protocol

Correct Answer : internet service provider

19) RGB 255 255 255 317 58 o= 322

A. &I
B. swt

C. =z
D. sttt

Correct Answer : AWl

20) R T (=6 Bitel (@157

A. H1
B. H2
C. H3
D. H4

Correct Answer : H1




21) G TG BCF ©f?

A. IS eI

B. aoEf o
C. T2 @ETroe o
D. fremat

Correct Answer : 7 ot

22) OPS5 9 gerts o al?

A. 2R
B. fad
C. o2
D. ve¥

Correct Answer : 2%6¥

23) 1 OI9IF 34 561 (@ ?

A. Nazmul Sir
B. Samrat24
C. aben 23

D. ab@23

Correct Answer : Samrat24

24) Double (B! Big# F© 12T S +73?

A.
B.
C.
D.

T © U &

Correct Answer : b

25) Non volatile ¢ @67

A. T
B. @i
C. = e
D. ey

Correct Answer : 9




